
100p
500V

RV1
A500k

RV3
A500k

RV4
A1M

RV5
A1M

RV6
A250K

C7R16

R13

R7
R1

V1V2V3V4V5

V7

C20

R34

J1

J2

J3

J4

J5 J6

SW2 SW1

R26 C17

C19

R
1

8 R19 R20

C8

R14

C12

R
9

C21

R32
C11

V6

C18

R30

C20R31

C16

R27

C15

C14

R18

C5

C22

R3 C1 R4

R35

R36R37

R38

B+ FUSE
T500mA (Slow)

F1

INDICATOR
LAMP

TOP CUT BASS TREBLE CH 2 IN
TOP BOOST

IMPEDANCE
SWITCH

4 / 8 / 16 OMH

SPEAKER
OUT

230VAC IN
T2A (Slow)

F2

to OPT

VOLUME

UralTone AC15 Layout

1

8

POWER
SWITCH

SPEAKER
OUT

STAND BY
SWITCH

VOLUME CH 1 IN
EF86

1

(c) UralTone Amplification Oy -  v1.2B 27.2.2023

All voltages measured on the testing points
are referred to GND except the heaters at tube sockets.
Allowed variation on measure points is 10%.

www.uraltone.com

= AC Measure point with value, between points1.85V

V1 = EF86

V2 = 12AX7

V3 = 12AX7

- Input tube, CH 1

- Input tube, CH2

- Driver for tone, CH2

V4 = 12AX7

V5 = EL84

V6 = EL84

- Phase splitter

- Output tube

- Output tube

= DC Measure point with value, GND referredA:1.85V

= AC Measure point with value, GND referred1.85V

Wire above the board
Wire under the board

to OPT

isolate unused ends

V7 = 5AR4 - Rectifier

M3x8

M3x8

M3x8M3x8

M3x8

M4x12 + washer / M3x8 + washerM3x8 + M3-20mm spacer

M3x8M3x8

M3x8

M3x8

M4x12 + washer

M4x12

M4x12

M3x8M3x8
M4x12 + washer / M3x8 + washer

M4x12 + washer

M4x12 + washer

M4x12 + washer

M4x12 + washer

M3x8 + M3-20mm spacer

M3x8 + M3-20mm spacer

M3x8 + M3-20mm spacer

M3x8 + M3-20mm spacer

M4x12 + washer

M3x8

M4x12 + washer

M4x12 + washer

M3x8
R29 R28

C2

R25

R
2
5


